P
MM IjE BY BC SCHMALZ
HT-SG A5 E 35 G1/4-AG

£& ¥=.:10.07.06.00434
https://www.schmalz.com/10.07.06.00434

ZHOIX| > T& Ats%t 7| > VS BE > OIREY 285 > EYE @It 206 A28 HT > Holders for Suction Cups HT-SG E > HT-

SG A5 E 35 G1/4-AG
MM =g

Connection 1: Ball head 32 mm
Shape: Ejector connection
Width B: 35 mm

Vacuum connection: G1/4"-F

Suction cup connection: G1/4"-M

C|xtel Ho|E

y &4 2
L'-2 B 35 mm
D 32 mm
G1 G1/4"-F
& v |@® II T
o~ G2 G1/4"-M
SW1 8
G2 G4 M4-F
L3, H 24.50 mm
& = =l H1 65.50 mm
e L 45.50 mm
| G4
n@i@ L1 82 mm
L2 67 mm
L3 1T mm
LG2 22 mm
SW1 17 mm
X1 28 mm
7= dlolH
%4 2
Weight 107.70 g
Product family HT-SG-E

Schmalz0f| 22|
Schmalz Co. Ltd. | #503~507, 118 LS-ro 116Beon-gil, Dongan-gu, Anyang-si, Gyeonggi-do, 14118, South Korea | +82 31 8HEOPAD |..0A{ 2
schmalz@schmalz.co.kr


https://www.schmalz.com/ko-kr/
https://www.schmalz.com/ko-kr/category/PGE-00000
https://www.schmalz.com/ko-kr/category/PGE-00155
https://www.schmalz.com/ko-kr/category/PGE-00156
https://www.schmalz.com/ko-kr/category/PGE-05569
https://www.schmalz.com/ko-kr/category/PGE-05571
https://www.schmalz.com/ko-kr/

N
MM IjE BY BC SCHMALZ
HT-SG A5 E 35 G1/4-AG
2E $=2.:10.07.06.00434
https://www.schmalz.com/10.07.06.00434

4r
I
ot

SET HT-SG..E VSi-HD M4x30
£& #=.:10.07.06.00640

Construction use: Holder tooling suction Cup
contains: Vacuum/pressure switch

and: 2x M4x30

SET HT-SG..E VSi-HD M4x12
£E B12.:10.07.06.00642

Construction use: Holder tooling suction Cup
contains: Vacuum/pressure switch

and: 2x M4x12

Schmalz0f| 22|
Schmalz Co. Ltd. | #503~507, 118 LS-ro 116Beon-gil, Dongan-gu, Anyang-si, Gyeonggi-do, 14118, South Korea | +82 31 8HEOPAD2 |..0A{ 2
schmalz@schmalz.co.kr


https://www.schmalz.com/ko-kr/

